
  

Simplifier :

7×7×7×7×7×7×7×7



  

Correction :

Notation sous forme de
puissance.

7×7×7×7×7×7×7×7=78



  

Calculer :

2−23



  

Correction :

2−23
=2−8
−6=



  

Donner l'écriture décimale de : 

104



  

Correction :

104=10×10×10×10
= 10 000



  

 1 h 45 min = …….. h 



  

Correction :

1 h 45 min =  1,75 h 



  

Simplifier : 

7 x−(9 x+3)



  

Correction :

7 x−(9 x+3)
7 x−9 x−3
−2 x−3



  

4x + 24 = 2x - 6 

Résoudre l'équation : 



  

Correction :

4x + 24 = 2x – 6
4x + 24 – 2x = 2x – 6 – 2x
        2x + 24 = - 6
2x + 24 – 24 = - 6 – 24
                 2x = - 30
                   x = - 15
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